PROCEDURE inkatempel;

CONST 



pageWidth=210;



pageHeight=297;



pageFoldy=148.5;

VAR 



i:INTEGER;



breite,tiefe:REAL;



start1X,start2x,startY,endY,s1X,s2X,sY,sEndeY:REAL;



stufenhoehe,stufentiefe,tempelhoehe,torhoehe,torbreite:REAL;



tY1,tY2,tX1,tX2,treppenBreite:REAL;



stufenAnzahl:INTEGER;

BEGIN


stufenAnzahl:=pstufenAnzahl;


breite:=pbreite;


tiefe:=ptiefe;


treppenBreite:=ptreppenBreite;


tempelhoehe:=ptempelhoehe;


torhoehe:=ptorhoehe;


torbreite:=ptorbreite;


stufenhoehe:=pstufenhoehe;


stufentiefe:=pstufentiefe;


start1X:=(pageWidth-breite)/2;


start2x:=(pageWidth-breite)/2+breite;


startY:=pageFoldy-tiefe;


endY:=startY+stufentiefe;


tX1:=0.5*(pageWidth-treppenBreite);


tX2:=0.5*(pageWidth+treppenBreite);


FOR i:=1 TO stufenAnzahl DO BEGIN



s1x:=start1X+i*stufentiefe;



s2x:=start2x-i*stufentiefe;



sY:=startY+i*stufentiefe+i*stufenhoehe;



sEndeY:=(sY+stufenhoehe+tiefe)-i*stufentiefe;



penfore(0,0,0);



{*TREPPE*}



tY1:=sY-0.5*stufenhoehe;



tY2:=sY+0.5*stufenhoehe;



moveTo(tx1,ty1);



lineTo(tx1,ty2);



moveTo(tx2,ty1);



lineTo(tx2,ty2);



penfore(65000,0,0);



moveTo(tx1,ty1);



lineTo(tx2,ty1);



moveTo(tx1,ty2);



lineTo(tx2,ty2);



penfore(0,0,0);



{*vertikale linien*}



moveto(s1x,sY);



lineTo(s1x,(sY+stufenhoehe+tiefe)-i*stufentiefe);



moveto(s2x,sY);



lineTo(s2x,(sY+stufenhoehe+tiefe)-i*stufentiefe);



penfore(65000,0,0);



{*kurze horizontale linien*}



moveto(s1x,sEndeY);



lineTo(s1x+stufentiefe,sEndeY);



moveto(s2x,sEndeY);



lineTo(s2x-stufentiefe,sEndeY);



{*lange horizontale linien*}



moveto(s1x,sy);



lineTo(s2x,sy);



moveto(s1x,sy+stufenhoehe);



lineTo(s2x,sy+stufenhoehe);


END;


{*Tempel*}


penfore(0,0,0);


{*vertikale linien*}


moveto(start1X+stufentiefe*(stufenAnzahl+1),startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1));


lineTo(start1X+stufentiefe*(stufenAnzahl+1),(startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+tiefe+tempelhoehe)-stufentiefe*stufenAnzahl-stufentiefe);


moveto(start2x-stufentiefe*(stufenAnzahl+1),startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1));


lineTo(start2x-stufentiefe*(stufenAnzahl+1),(startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+tiefe+tempelhoehe)-stufentiefe*stufenAnzahl-stufentiefe);


penfore(65000,0,0);


{*horizontale linien*}


moveto(start1X+stufentiefe*(stufenAnzahl+1),startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1));


lineTo(start2x-stufentiefe*(stufenAnzahl+1),startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1));


moveto(start1X+stufentiefe*(stufenAnzahl+1),(startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+tiefe+tempelhoehe)-stufentiefe*stufenAnzahl-stufentiefe);


lineTo(start2x-stufentiefe*(stufenAnzahl+1),(startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+tiefe+tempelhoehe)-stufentiefe*stufenAnzahl-stufentiefe);


moveto(start1X+stufentiefe*(stufenAnzahl+1),startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+tempelhoehe);


lineTo(start2x-stufentiefe*(stufenAnzahl+1),startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+tempelhoehe);


{*Tor*}


penfore(0,0,0);


{*vertikale linien*}


moveto(start1X+breite/2-torbreite/2,startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1));


lineTo(start1X+breite/2-torbreite/2,startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+torhoehe);


moveto(start1X+breite/2+torbreite/2,startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1));


lineTo(start1X+breite/2+torbreite/2,startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+torhoehe);


{*horizontale linien*}



moveto(start1X+breite/2-torbreite/2,startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+torhoehe);


lineTo(start1X+breite/2+torbreite/2,startY+stufentiefe*(stufenAnzahl+1)+stufenhoehe*(stufenAnzahl+1)+torhoehe);

END;

RUN (inkatempel);

